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CBT Sample assessment model answers

Management Accounting: Decision and Control (MDCL)

Sample assessment 2
Task 1  (16 marks)
[image: image2.png](a) Select the appropriate cost classification for each cost n the table below. (4 m:

Direct materials 90,000)
Skiled abour 120,000)
Wachine rental 33.000)
Waintenance 45.750)

(b) Complete the table below o show the cost per unit for the two different levels of output. Use the.
information in (a) above to calculate your answer. Show figures to two decimal places.

Material 18.00 18.00
Stilld fabour 2400 2720
Machine cost 660 550
Maintenance 915 510
Total cost 5775 5680





Task 1, continued 

[image: image3.png]() Complete the following sentences about standard costing. Use the dropdown boxes to select your (4 marks)

answer.

Attainable standards are based on

To motivate stafto improve efficiency, a business should use

Per units 3
Direct material A22 15
Direct material C56 10
Directfabour 2
Variatle production overheads | 4
Fixed production overheads B

(@) Calculate the following:

‘Budgeted prime costfor 2,750 units 145750
‘Budgeted marginal cost for 4,500 units 256500)
Full production costfor 6,000 units 552000)

efcient J] operating conions.

A standard that makes no allowance for wastage or idle time is known as

jeal standard.

[en atainabie [ standard.

jeal ‘standard assumes the minimum possible costs that 3 business is likely o incur

You have been supplied with the following standard cost for the manufacture of a product.

3 marks)




Task 2  (12 marks)
[image: image4.png](a) Calculate the three variances below to the nearest whole pound (£). Enter a zero if there is no
variance. Use the dropdown boxes to indicate whether the variance is adverse, favourable or nil. 8 marks)

Materials usage variance 720
Labour rate variance 840
Variable overhead efficiency variance 210

A company manufactures Product DD.

The productis budgeted o use 1.25kg of material per unit at a cost of £7.80 per kg

During Iast month the company used 1,140kg to manufacture 950 units and the material price variance was.
2912 adverse.

(b) Calculate the actual price per kg of material to two decimal places. (2 marks)

The actual price per kg of material was £ 860

Product DD is budgeted o require 2 hours of labour at a cost of £18 per hour. The company manufactured
950 units and e labour effciency was £180 adverse.

(c) Calculate the actual number of hours used to produce 950 units to the nearest whole number. (2 marks)

The actual number of hours used was 1910





Task 3  (12 marks)
[image: image5.png](a) Calculate the following variances to the nearest whole pound (£). Enter a zero if there is no variance.

Uso th opdou boxes o ncat whether v variano o dvers,faveurale o il 6 marts)
The e srocucion oveesd axpencirs varances & [ 2200] [s3ree
The e sroucton vetesovahume arncers & [—7500] [vowraie

The business has decided to investigate the impact of absorbing budgeted fixed production overheads using
budgeted labour hours.

The standard labour time is 2.5 hours per unit and, during last quarter, the actual production of 14,000 units
took 33,600 hours.

(b) Calculate the following variances to the nearest whole pound (£). Enter a zero if there is no variance.
Use the dropdown boxes to indicate whether the variance is adverse, favourable or nil. 6 marks)

The fixed overhead capacity varianceis £ 500] [favourabie [

e e ovmeas sencyvanance s £ [ 790] [vouaie 5l





Task 4  (12 marks)
[image: image6.png]Complete the operating statement below using marginal costing.

(@) Use the drop down boxes to identify if EACH variance is adverse, favourable or nil.

(b) Enter the SIX missing figures to the nearest whole pound (£). Do not use minus signs or brackets.
Enter a zeroif there is no variance.

Standard marginal cost of actual production 41,600

ateraprice O o
et usage T | T
Orectiabou et i q
Drectiabou etciency rarse 320

Variable overhead rate [Favouraie oAl 384
Variable overhead eficiency [iaverse =] 640

Actual marginal cost of actual production 43,656

Fixed overheads: budget cost 9,000

Fired overheads: expenditure variance [raverse =] 1,000)

Total actual cost of actual production 53,656





Task 5  (12 marks)
[image: image7.png](a) Complete the table below by entering the FOUR missing figures. Use minus signs for negative
figures. (4 marks)

Trena. 180 200 220)
‘Seasonal variation 12| 10 E
‘Seasonally adjusted sales 168 210) 214

(b) Assuming the trend and the seasonal variations continue as in (a) above, complete the table below to
‘show the projected sales volumes for the last quarter of 20X1. Use minus signs for negative figures. (7 mars)

olume of units

Trena. 420 440 460)

‘Seasonal variation 12| 10 5

‘Seasonally adjusted sales 408 450 454





[image: image8.png]() Calculate the forecast price per kg in December 20X1. Your answer should be to two decimal places. (1 mark)

3 P72

End of Task





Task 6  (24 marks)

Part (a) (4 marks)

Ideal standards – maximum 2 marks

These are standards that assume perfect operating conditions with no wastage, idle time or machine down time. 
                                                                                                                  

They are impossible to achieve 
                                                                                      

Basic standards – maximum 2 marks

These are standards that are left unchanged over long periods. 
                                    
They are likely to be out of date and based on historic costs. 
                                    
Part (b) (i) (4 marks)

The ideal standard for material may have positive benefits as it gives workers something

 to strive for.  










However since normal wastage runs between 2% and 7%, zero wastage may be impossible to achieve.                                 





                     
Instead of seeing the standard as aspirational, this may demotivate employees and lead to a frustrated workforce. 








The basic standard for labour is too easily achievable, so it does not give the workers anything to strive for and is therefore unlikely to result in improvements. 



It is out-of-date and needs revising to reflect current operating conditions.

 

The current approach may result in managers being held responsible for variances which are a result of inappropriate standards rather than decisions they have taken. 


Alternatively it may result in variances being entirely attributed to poor standard setting and the consequences of decisions taken by managers may be overlooked or hidden.

 
e.g. In a month when wastage is 7%, this may partly reflect normal operating conditions and partly a decision by the purchasing manager to buy lower quality ingredients. 



Part (b) (ii) (4 marks)

The material usage variance is likely to always be adverse as there will almost certainly be some wastage.










The labour efficiency variance is likely to be favourable as current production is more efficient than the standard allows for.                             







Part (c) Revised standards including calculations  (6 marks)

Standards should be updated/ revised to reflect normal operating conditions.

     

Material: 

Using average wastage rate of 5% of all production: revised standard should be

 £2.00/0.95 = £2.105 






   

Note: this assumes that individual chocolates are spoiled and that there is no wastage of the packaging.









       

Revising the standard for the average wastage means that variances will highlight excess levels (7%) or very low levels (2%) which can then be investigated. 




  

Task 6, continued 
Labour

There have been improvements of productivity by 20% so £1.50 labour would now be sufficient to generate 1.2 boxes of chocolates. 








Revised standard should be £1.50/1.2 = £1.25 per box






This may encourage further efficiency gains.







Overall prime cost would become: 2.105 + 0.50 + 1.25 = £3.855





Part (d) (6 marks)

Goal congruence issues:

This situation highlights the conflict between: 

(i) short and long term:










The reduction in maintenance may help the business achieve its budget in the short term.
But have adverse consequences in the long term – if the machine breaks down or is inefficient .

(ii) the personal interests of the manager and those of the business.




The impact may depend on the extent to which the maintenance is delayed (just until the next accounting period or more permanently?)







Ethical issues:

The manager faces a conflict of interest






 

between his personal interest (the bonus) and what is right for the business. 



The way the bonus is calculated is likely to compromise their Objectivity 


  

There is also the question of Integrity/Transparency 






Since the bonus is based on net variance, technically the manager may not be doing 

anything wrong.  








 

However, would the manager want others knowing the information behind the net variance? 



 

Task 7  (18 marks)
[image: image9.png]() Use the given information to complete the table below by entering the missing figures.
~ Assume that gross profit excludes fixed costs.
« Show all percentage figures rounded to TWO decimal places.
- Show all other figures to the nearest whole number. (14 marks)

Selling price per seat (£) 7
Occupancy rate (%) 8
Variable costs per occupied =
seat (£)

Gross profit margin (%) 5000
(19 TWO decimal places)

Fired costs per occupied »
seat (£)

Contribution per seat (£) =
Break-even number of seals 180290
Break-even turnover (£) 12620300
iargin of safety (%) 2488
(19 TWO decimal places)





Task 7, continued

[image: image10.png](b) Calculate the following key performance indicators by entering the missing figures into the table.
Yours answers should be to the nearest whole number.

Markup (%) 2
Net proft margin (%) 1
Return on net assets (RONA) (%) 14
‘Trade receivables collection period (days) 3

(4 marks)




Task 8  (15 marks)
[image: image11.png](a) Complete the table to show the optimal production plan using the current inventory. Show allfigures

totwo decimal places. 9 marks)
Material required per unit (kg) 200 080 180
Contribution per unit (£) 250 160 270
Contribution per limiting factor 125 200 150
‘Optimal production (units) 200 500 400
Total materials used (kg) 400 480 720
(b) Calculate the following. (2 marks)

‘The maximumm profit resulting from the optimal production plan would be £

1785]





Task 8, continued
[image: image12.png]() Complete the table below by entering the missing figures for Product Y and Product Z. Show figures

to three decimal places. (3 marks)
e agmmnenent | o o
(d) Complete the sentence below to indicate what action the business should take to increase its profit. (1 mark)

To increase ts profitfor the month, the business should buy in

[Productz %]




Task 9  (15 marks)
[image: image13.png](a) Calculate the four missing figures to complete the table below.

(4 marks)

Toal antcipated sales revenue 380000
Target total net profit 90000
Targettotal costs 270000
Target cost per unit (o two decima places) 135

(b) Using the information i (a), calculate the following costs (to two decimal places).

3 marks)
Total lfecycle costs 285000
Lifecycle cost per unit 1425
(b) (i) Recommend whether or not the product should be introduced by using the dropdown box to
complete the sentence below. )

1 margin of 25% s required, the new product [Shouig notbe g infroduced.





Task 9, continued

[image: image14.png](c) Complete the table below.

Calculate the number of units that the company would need to sell to maintain a profit margin of 25%.
Assume the lifecycle costs are expected to be as in (a) and (b) above.
Enter your answers in the table below to the nearest penny.

Reduced selling price per unit 17.00
‘Target net profit per unit 425
Targettotal cost per unit 1275
‘Expected variable manufacturing cost per unit 700
Targetfired costs per unit 575
(d) Calculate the required sales volume.

Tothe nearestwhole unit the required sales volume s [ 25217]

units.

(5 marks)

(2 marks)





Task 10  (24 marks)

(a) 16 marks

Sales revenue 

Brand B’ revenue is expected to increase by 81% over the period,                                       

whilst Brand A’ revenue is expected to decline by 52.5 %.                                                      

The changes in revenue are caused by both price and volume,                                              

and reflect the fact that the two products are at different points in their lifecycle.                    

There is a growing market for Brand B, hence sales volumes are expected to increase by 67%,

despite an increase in selling price from £23 to £25.                                                                  

Meanwhile, demand for Brand A is in decline, with sales volumes expected to decline by 50%,  

despite a reduction in selling price from £20 to £19. 

Gross margin 

The variable cost per pair for the two products is the same and constant at £12 per pair.        

So the difference in the gross profit margins is entirely due to differences in selling prices

As the market for Brand A has reached maturity, there will be further pressure on selling price. 

This is reflected in the lower contribution per pair for Brand A (£8 actual/ £7 forecast, compared to Brand B (£11 actual / £13 forecast). 

Overall profitability 

The profitability of the two divisions is partly a function of their gross profit margins.            

When the higher sales volumes of Brand B are taken with the higher contribution per pair, this means that Brand B generates significantly more contribution to easily cover the fixed costs.           

This is despite the fact that Brand B’ fixed costs are higher and increasing, which is likely to reflect the increased marketing to boost sales of the product.                                                                  

As sales volumes of Brand A fall, spare capacity increases and fixed costs per pair increase.

This is reflected in their falling net profit margin (30% to 17%).                                            

(b) 8 marks

Outsourcing production allows the business to keep more of the business costs variable.     

This is useful if the amount of demand and the length of time that additional capacity will be required is unknown.                                                                                                                              

However the supplier would normally build a profit margin into the cost.                             

There will need to be checks on quality to ensure outsourced suppliers are up to standard 

Other options to increase capacity within the business include: Investment by the Brand B division in new production equipment.                                      
This will require finance and will increase the fixed costs of the business.                              
This could be sensible if demand is expected to remain high for some years to come which will depend on the length of the product lifecycle.                                                         

Investigate the extent to which Brand B can be produced by the Brand A division.
The notes below cover a range of possible points that you may include in your written response.


These examples are not intended to be exhaustive and other valid comments may be relevant.
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